
209

1

2

5

6

8

7

12

13

13

11
10

9

4

3

1

2

5

6

8

7

11

13

12

14

10

14

9

4

3

tuBular – dEadBOlts, ExplOdEd viEws

 1. 1 each Adjustable Backset Deadbolt
 2.     4 each #8.75˝ Flathead Combination Screws 
 3. 1 each Outside Cylinder
 4. 1 each Outside Cylinder Collar 
 5.   2 each Keys
  6. 1 each Outside Cylinder Tail Piece
 7. 1 each Screw Guide 
 8. 1 each Inside Cylinder
 9. 1 each Inside Cylinder Tail Piece
 10. 1 each Threaded Collar 
 11.   2 each #10-32 x 2.25˝ Flat Head Machine Screws
 12. 1 each Cylinder Cover
 13. 1 each Inside Collar
 14. Optional 8090 Trim Rings 

double Cylinder deadbolt

 1. 1 each Adjustable Backset Deadbolt
 2.   2 each #8-32 x  3/4˝ Flat Head Machine Screws
 3.   1 each Outside Cylinder
 4. 1 each Outside Cylinder Collar
 5.   2 each Keys
 6. 1 each Cylinder Tail Piece
 7. 1 each Screw Guide
 8. 1 each Turn Knob Mounting Plate
 9.   2 each #10-32 x 2’1/4˝ Flat Head Machine Screws
 10. 1 each Turn Knob Tail Piece
 11.   1 each Turn Knob Trim
 12. 2 each #8-32 Oval Head Machine Screws
 13. Optional 8090 Trim Rings

single Cylinder deadbolt




